Figure S5: A comparison of the three models for all chromosomes. Black line
Bg; blue line B, model 1 (Background selection); green line B, model 2 (recent
sweeps); purple line B. model 3 (recent and ancient sweeps). Red markings on the
x axes denote the 7 valleys. Yellow markings on the x axes denote the windows
where recombination rate was interpolated.

1.4

1.2 |
174
0.8

B
0.6 |

0.4 |\I

02 |

0

0 20 40 60 80 100 120
Position (Mb)

Chromosome 1



0 10 20 30 40 50 60 70 80
Position (Mb})

Chromosome 1A

1.6

1.4

1.2

N

o 0 i i y Ml_ |
WL

0.4

AN L .JL_
T‘ i W il

0.2 ‘

0 20 40 60 80 100 120 140 160
Pasition (Mb)

Chromosome 2



< N - © © <+ o o

100 120

80

0 40 60
Position (Mb})

2

0

Chromosome 3

10 20 30 40 50 60 70

0

Pasition (Mb)

Chromosome 4



1.4

B VWWWW\J‘ |

0.4 | \ /“
0.2 | U

D : j T
0 o 10 15 0
Position (Mb})
Chromosome 4A
1.4

1.? | M
N me%w&ﬂW’Ww%fﬂw
o |

|

0.2 |

0O 10 20 30 40 5 60 70
Position (Mb)

Chromosome 5



1.2

0.8 ]/

B 0.6

0.4 1

0.2 ]

0 5 10 15 20 25 30 35 40
Position (Mb})

Chromosome 6

Pasition (Mb)

Chromosome 7



1.4

1.2 1
. Qﬁvw wiftn A ”"\me‘q. .-"‘_"A: ﬁM

¥
B 1
0.6 4 m'\ \J
0.4 \
0.2 |
D I | ‘ I y T
0 5 10 15 0 = - |
Position (Mb)
Chromosome 8
B
0 5 o - _ _ |
Position (Mb)

Chromosome 9



1.4

1.2

0.8 1
0.6
0.4 1

0.2 4

1.8 -
1.6 -
1.4 |
1.2 -

08 ./
0.6 |
0.4 |
0.2 |

Paosition (Mb)

Chromosome 11

N, M )

\’\/ ‘LJ \ﬁ_\/ A:\\ ;"‘A' ".‘:‘f‘ W W I,‘ l

[ \ﬂ\”\/\ﬁf\ / W \
0 2 4 6 8 10 12 14 16 18 20

Position (Mb})
Chromosome 10
0

0 5 10 15 20 25



1.2

¥

0.8 |
B 0.6
0.4 -

0.2 1

Chromosome 12

10

15

Paosition (Mb)

kA AT ¥
0.8 L MM\J\M 4
\j“\ff f\“\J\/ ] \/\/
0.6
0.4
0.2
0 N S
0O 2 4 6 8 10 12 14 16 18
Position (Mb)
Chromosome 13
0 : : :
o 2 4 6 8 10 12 14 16

Position (Mb)

Chromosome 15

0.8

B 0.6

0.4

0.2

0

20 25

J\Tf\’/\ﬁ’%\%ﬁ\\’ M AR
y \ Yi. WY W
v/
0 2 4 6 8 10 12 14 16 18
Position (Mb)
Chromosome 14

Position (Mb)

Chromosome 17



0.8

0.6

0.4

0.2

0.9
0.8
0.7
0.6
0.5
0.4
0.3
0.2
0.1

1.8
1.6
1.4
1.2

0.8 |

0.6
0.4
0.2

Position (Mb)

Chromosome 22

4 .
W\’\ /\“"/\* \
0 12
Position (Mb)
Chromosome 18
Aw/
/m" V\R v ”\/\\ //[’
MNA/ | |
o 2 4 6 8 10 12 14 16
Position (Mb)
Chromosome 20
N7
0 05 1 15 2 25 3 35 4 45 5

0.8

0.4

0.2

0.8

0.6

0.4

0.2

0.6

0.4

0.2

4 6 8 10 12
Position (Mb)
Chromosome 19
i
SATH Y
2 3 4 5 6 7 8
Position (Mb)
Chromosome 21
N/\/ ' \
2 3 4 5 6 7 8

Position (Mb)

Chromosome 23



NPT |

I

B 0.6 B 1
0.8

0.4
0.6

0.2
0.4
0 . 0.2

0 1 2 3 4 5 6 7 8 0 0.2 0.4 0.6 0.8 1 12 1.4
Position (Mb) Position (Mb)
Chromosome 24 Chromosome 25

1.6 1.6

§i
~

B 0.8 4 \A/vf\/ B 0.8

0.6 0.6
0.4 0.4 \

0.2 0.2

3 4 5 6 7 0 05 1 15 2 25 3 35
Position (Mb) Position (Mb)

o
]
N
BN

Chromosome 26 Chromosome 27

2 \/\/ V

0 05 1 15 2 25 3 35 4 45 5
Position (Mb)

Chromosome 28

10



